
 

 

 

             Problem Solving: Mass    
 

1.  One packet of washing powder has a mass of 4kg.  

      Calculate the mass of:   

 a)   3 packets of washing powder.  
 
 
                                                 _____ × _________  = _____           
 
 
 

 b)   6 packets of washing powder.  
 
 
 
 
 
 
               _____ × _________  = _____     or  _____ × _________  = _____               
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2.  One tin of jam has a mass of 500g.  

      Calculate the mass of:   

 a)   2 tins of jam.                      b)   3 tins of jam. 
 

 

 

 

 

    

    _____ × _________  = _____           _____ × _________  = _____           

 

         c)   4 tins of jam.                      d)   6 tins of jam. 

            _____ × _____  = _____             _____ × _____  = _____      
                  

    or      _____ × _____  = _____         or      _____ × _____  = _____          
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